3 FBRAFREAMXAR

- 219 -



- 220 -



75 Y5 T30 1 PR A () 1 IR S i 57 1)

1 X HT R4 BEE™ BEET BEE™

T XATAf=—R 211 211 211

H X 44 AEHE | KEREHE | /NREFHET

Hi X 0260 0260 0460

HPEES 000200 000300 000100

FEF R (m) 30 80 80

e RFE EHF Nz N:

HI&IX 5y HFERK | EFERAK | £EAK

FRKEH H H31.1.22 | H31.1.22 | H31.1.22

KIR(C) 15.2 14.6 15.6

XL EH (mS/m) 30.3 33.8 28.8

pH 6.6 6.7 6.7

== 0.025 0. 005 0.019

1 X T R4 mEM mET mEM MET
T XATAF=—R 206 206 206 206
X 44 & RET £ RHET £ RET INE R ET
Hh X 0500 0500 0500 0730
HPEES 000100 000500 000900 000100
FHEF R (m) 6 ZN:L] N N:G
e RFF EHF N:G N Nz
HI&X 5y HFERK | &£FAK | £FERK | £FRAK
FRKEH H H31.3.12 | H31.3.12 | H31.3.12 | H31.3.12
KIR(C) 13.0 1.0 12.0 9.8
XL EF (mS/m) 22.3 15.6 17.1 20.7
pH 6.5 6.0 6.2 6.3
T < 0.08 < 0.08 < 0.08 < 0.08
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(B i mg/L)



TE3e I 7 JE ) b X A (R T F2hE 3 1)

(HLAZ mg/L)
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T X T4 €iRM €iRM €iRM €iRM €iRM
M XE A2 —R 201 201 201 201 201
X A BJov4|BJOovys|GcgJays|cgIdayy|cgIaoyy
HX %5 0020 0020 0070 0070 0070
H A% 007900 008000 002300 002500 002600
FE R EE (m) 85 10 65 80 80
B RIE EHP EHP EHP EHP EHP
FHIE X 5y AFERK | EERK | —RBE&A | £FRAK | £FERK
BAKFEAH H30. 10. 24 | H30. 10. 24 | H30. 10. 24 | H30. 10. 24 | H30. 10. 24
7KIE(°C) 16.0 16.0 15.0 16.7 17.0
R H (mS/m) 23 23 23 26 19
pH 1.2 6.9 1.0 1.0 8.1
JrauaAR L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bR e < 0.0002 |<0.0002 |[<0.0002 (< 0.0002 |< 0.0002
1,2-7uax i < 0.0004 |< 0.0004 [<0.0004 (< 0.0004 |< 0.0004
1,1->7anx=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7aunxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-RN)rmex4 < 0.0005 | 0.0005 |[<0.0005 (< 0.0005 |< 0.0005
1,1,2-N)7mpx4 < 0.0006 |< 0.0006 |[< 0.0006 (< 0.0006 |< 0.0006
N ZvaaxzsF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThIoozFL 0.0012 0. 0006 0.0016 0.0030 (< 0.0005
i X H 4 £iRt £iRt

XA a—R 201 201

X A i Prilcwi=-P¥i

X% 0070 0070

HAES 002700 002800

FH R (m) 80 100

&R ZHE ZHE

HEX 5y HERK | A

BKEAH H30.12. 11 | H30. 12. 11

7KiE(°C) 11.3 13.1

XU E R (mS/m) 30 18

pH 1.3 1.5

JrauaAR L < 0.002 < 0.002

W {ArES < 0.0002 |< 0.0002

1,2-/uax i < 0.0004 < 0.0004

1,1->Zua=xFL < 0.002 < 0.002

1,2-Zua=xFlL < 0.004 < 0.004

1,1,1-K)yaaxk < 0.0005 |< 0.0005

1,1,2-KN)yoa=xk. < 0.0006 |< 0.0006

N ZaoxzsFL < 0.001 < 0.001

ThIoozFL < 0.0005 |< 0.0005






